RESOLUTION NO. 2024-210

A RESOLUTION AWARDING AN OPEN-END CONTRACT TO ANIXTER INC., PITTSBURGH, PA FOR THE FURNISHING AND DELIVERY OF LED STREET LIGHTING FOR THE VINELAND MUNICIPAL ELECTRIC UTILITY – DISTRIBUTION DIVISION, IN AN ESTIMATED AMOUNT OF \$140,582.00.

WHEREAS, the City of Vineland has heretofore advertised for bids for the furnishing and delivery of LED Street Lighting for the Vineland Municipal Electric Utility – Distribution Division, COV BID #2024-23, for a period of six months from date of award, in accordance with specifications on file in the office of the Purchasing Agent; and

WHEREAS, on May 3, 2024, bids were received, duly opened and read aloud, being referred to the Business Administrator for tabulation, evaluation, report and recommendation; and

WHEREAS, the Business Administrator has, under date of May 21, 2024 submitted a written report and tabulation of the bids received and has recommended that an open-end contract for the furnishing and delivery of LED Street Lighting for the Vineland Municipal Electric Utility – Distribution Division, be awarded to Anixter Inc., Pittsburgh, PA, in an estimated amount of \$140,582.00, said bid being the lowest bid received and considered in the best interest of the City of Vineland; now, therefore,

BE IT RESOLVED by the Council of the City of Vineland that said open-end contract for the furnishing and delivery of LED Street Lighting for the Vineland Municipal Electric Utility – Distribution Division, COV BID #2024-23, for a period of six months from date of award, be and the same is awarded to Anixter, Pittsburgh, PA, on their bid in the estimated amount of \$140,582.00, said bid being the lowest bid received and considered in the best interest of the City of Vineland, and the Purchasing Agent be and the same is hereby authorized and directed to issue purchase order contract for the same in behalf of the City; and

BE IT FURTHER RESOLVED that the Chief Financial Officer has certified that the funds for the contract to be awarded herein are available.

Adopted: May 28, 2024

ATTEST:

President of Council

eaa

City Clerk

kp



May 21, 2024

REPORT TO: THE MAYOR AND COUNCIL

RE: Proposals Submitted to the Purchasing Agent 5/3/24

Dear Mayor and Members of Council:

Submitted to you herewith for your consideration is our evaluation of the proposals submitted to the Purchasing Agent on May 3, 2024.

FURNISHING AND DELIVERY OF LED STREET LIGHTING FOR THE VINELAND MUNICIPAL ELECTRIC UTILITY – DISTRIBUTION DIVISION FOR A PERIOD OF SIX MONTHS FROM DATE OF AWARD, COV BID #2024-23.

It is the recommendation of the Director of Electric Utility, which has the concurrence of the Purchasing Agent and Business Administrator that an open-end contract be awarded to the lowest bidder, Anixter Inc., Pittsburgh, PA. for an estimated amount of \$140,582.00

We trust that the above recommendation will receive your favorable consideration and that the recommended resolution will be adopted as presented.

Respectfully submitted, Robert E. Dickenson, Jr.

Robert E. Dickenson, Jr. Business Administrator

RD/rl





BID EVALUATION FORM

DEPARTMENT Electric Utility - Distribution Date: 05/08/2024
The undersigned recommends that a contract be awarded for the following:
1. Bid Title: LED Street Lighting
2. Amount to be Awarded: \$140,582.00
Encumber Total Award
Encumber by Supplemental Release
3. Engineer's Estimate: \$118,117.50 (Based on Last Purchase Pricing)
4. Amount Budget: \$ 150,000.00
4-05-55-512-9003-52000 E371 5. Account Number to be Charged: 4-05-55-512-9003-52000 E373 (50/50 Split)
6. Date Bids Received: 05/03/2024
7. Date to be Awarded: 05/28/2024
8. Recommended Vendor: Anixter Inc.
9. Is Recommended Vendor the Apparent Lowest Bidder? 🔳 Yes 🗌 No
10. Comments/Special Instructions:
11. Evaluation Performed by: Will Burns, ext. 4977
11. Evaluation Performed by: Will Burns, ext. 4977 12. Approved By: John Lillie
13. Attached: (Check-Off List)
Tabulation of Bids

Tabulation of Bids Justification for Vendor Recommendation (if applicable) V Evaluation Data (if applicable)

<u>Send copies to:</u> Purchasing Department Business Administration

2 C 1

Street Light Bid 2024 - Pricing Evaluatio	on - COV BID 2024-23
---	----------------------

WB 05/08/2024			(Last Purchased Price)	
VMEU PN	Description	Quantity	Estimated Price (\$)	Totals (\$)
570-040	35 Watt LED Type III	12	\$93.89	\$1,126.68
570-041	72 Watt LED Type III	36	\$126.35	\$4,548.60
570-042	108 Watt LED Type III	50	\$174.72	\$8,736.00
570-044	180 Watt LED Type III	12	\$158.85	\$1,906.20
570-045	143 Watt LED Type III - VERDEON	12	\$452.00	\$5,424.00
570-027	PEMCO Part Number 63W8C5K	12	\$525.00	\$6,300.00
570-180	130 Watt LED Fixture Trunnion	12	\$469.42	\$5,633.04
570-180	130 Watt LED Fixture Slipfitter	48	\$469.42	\$22,532.16
570-181	250 Watt LED Fixture Trunnion	12	\$746.16	\$8,953.92
570-181	250 Watt LED Fixture Slipfitter	48	\$746.16	\$35,815.68
570-182	370 Watt LED Fixture Trunnion	12	\$952.29	\$11,427.48
570-182	370 Watt LED Fixture Slipfitter	6	\$952.29	\$5,713.74
			Estimated Bid Total:	\$118,117.50

Anixter Unit Pricing	Anixter Price Increase	Anixter Bid Total Pricing
\$174.00	\$80.11	\$2,088.00
\$190.00	\$63.65	\$6,840.00
\$190.00	\$15.28	\$9,500.00
\$561.00	\$402.15	\$6,732.00
\$505.00	\$53.00	\$6,060.00
N/A	N/A	N/A
\$415.00	-\$54.42	\$4,980.00
\$451.00	-\$18.42	\$21,648.00
\$870.00	\$123.84	\$10,440.00
\$928.00	\$181.84	\$44,544.00
\$974.00	\$21.71	\$11,688.00
\$1,033.00	\$80.71	\$6,198.00
	Total Proposal Pricing	\$130,718.00

Extra Parts Priced by Anixter

	Unit Price	Quantity	Extra Parts Totals
Wireless tool for occupancy sensor for 570-045 (x12)	\$153.00	12	\$1,836.00
Top & Side Visors for 570-180 (x60)	\$48.00	60	\$2,880.00
Wire Guards for 570-181 & 570 182 (x78)	\$66.00	78	\$5,148.00
		Total for Extra Parts	\$9,864.00

Total Bid Price \$140,582.00

PURCHASING AGENT RECOMMENDATION AWARD COV BID # 2024-23

Proposals were received and opened Friday, May 3, 2024 at 2:00 PM for LED Street Lighting from the following:

Anixter Inc.: Lighting N Beyond, LLC \$140,582.00 * did not bid on Part 2.3 \$172,644.26

Comments: Lighting N Beyond does not have a NJ Business Registration Certificate automatic rejection. Both vendors are over the engineers estimate and overall budget. Anixter submitted all mandatory documents.

Recommendation: Award can be made to Anixter if the proposal meets the specifications and if they can receive more funds. The department needs to review the proposals to make sure they meet the specifications.

Jeanine N. Meneghetti, QPA Purchasing Agent

۰ ۲

TABULATION OF BIDS COV BID 2024-23 LED STREET LIGHTING MAY 3, 2024

Engineer's Estimate - \$118,117.50

۰ ۲

	Anixter Inc. 225 W. Station Sq. Dr. Ste. 700 Pittsburgh, PA 15219	Lighting N Beyond, LLC 628 Rte. 303 Blauvelt, NY 10913
Ownership Disclosure	YES	YES
Aff Action	YES	YES
Check List	YES	YES
Proposal	YES	YES
Addenda	YES	YES
Part 2.2	\$31,220.00	\$32,937.50
" 2.3	No Bid	\$8,250.00
" 2.4	\$93,300.00	\$131,456.76 *
TOTAL	\$130,718.00	\$172,644.26
ADDITIONAL COST	\$9,864.00**	
GRAND TOTAL	\$140,582.00	

** Additional Pricing on the extra parts needed for the certain items.

* NO BRC automatic rejection.

Specifications_received by the following:

Lekson Associates Inc.	Construction Journal
Eaton	CIS
Diehl	United Electric
solarmax	CIS Leads
Prime Vendor	Penn Lighting
Nova Technology	Cosntruct Connect
Dave Murphy & Assoc.	Lighting Solutions Inc.
Tondo	
Bara Homes	
JJD Electric	
Power Tech, LLC	